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Was asked about the Chapter 1 Quiz. "Is there a Practice Quiz?"

Week 3 Written Assignment is Now Available.

Recall, Phoenix's question about 1.7 #19:

(a) For the limit Iim1 (x? + x + 4) = 6, use a graph to find a value of § that corresponds to
X—

& = 0.3. (Round your answer down to three decimal places.)

(b) By solving the cubic equation x
works for any given £ > 0.

3+ x+ 4 =6 + ¢, find the largest possible value of § that
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(¢) Pute = 0.3 in your answer to part (b). (Round your answer down to three decimal places.) S - Uir
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I did it with Desmos: x-a,*xﬁ

Y.

(1.07112,6.3) w3 S = o2 !
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f(x) =t xt+4

y=6+0.3

=6.3
vy=6-—0.3

= 3%.7
1—-.92037

=0.07963
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